50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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o

1)  Data flow
i) . Startopology
iii) LAN ¢

1v) WAN (08 Marks)
(08 Marks)

With a, neat_dlagram, explain link layer addressmg in detail. (06 Marks)
Explamicharacter orlented frammg and Bit orlented ﬁ'ammg (05 Marks)
"N 4 (05 Marks)

(08 Marks)
(04 Marks)

1) 1000 frames per second
) 500 frames per second |

i1) 250 frames per second: (04 Marks)

persistence methods, (08 Marks)
In the standard Ethemet with the- transmlssmn rate of 10Mbps, the length of the medium is
2500m and the size of the ﬁame‘ 1s 512 bits. The propogation speed of a signal in a cable is

2 x 10%my/s. 9alculate propogation delay, transmission delay and efficiency. (03 Marks)
What are the goals of fast Ethernet and explain Augonegotiation. (05 Marks)

& Module-3
Explain two typesiof packet switched networks. (07 Marks)
Explain Hubs, links layer switches, routers. (06 Marks)
Differentiate basic service set and extended service set. (03 Marks)
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OR

Explain classful addressmg in detail. (05 Marks)
An organization is granted a block of addresses with! ,glnnlng address 14.24.74.0/24. The
organization needs to have 3 sub blocks of addresses'to; se in three subnets: one subblock of
10 addresses, one subblock of 60 addresses, and-one; ,subblock of 120 addresses. Design the

subblocks. (07 Marks)
What is Bluetooth? Explain two types of Bluetooth networks. Y (04 Marks)
Mdd’ule‘-4 &y
Explain IPV4 Datagram format and, peaaéiﬁﬁelds with diagrams. , (08 Marks)
Explain distance vector routing along W1th distance vector routmg “algorithm for a node.
: (08 Marks)

Explain ICMPV4 message. formats with diagram and exoiam error reporting messages.
’ (08 Marks)

a

> Y

What is path vector routing and explam the same‘?‘w )’ (06 Marks)

In an IPV4 packet; ithe’ value of HLEN is 5, and the value of the total length field is OX0028.

How many bytes of data are being carried b is packet? (02 Marks)
& Module-S

Explain connectlonless and connectlon‘onented protocols in transport layer. (08 Marks)

Explaln Goback N protocol along w1th sliding window dlagrams (08 Marks)

(08 Marks)
(08 Marks)
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